
E/N misclosures at 9 gcps image 1 
ans = 
   -0.2105    1.2840 
ans = 
   -0.0588    0.3440 
ans = 
   -1.9030    3.0467 
ans = 
    1.0238    1.8925 
ans = 
    0.4251    0.6369 
ans = 
   -1.8014    3.0215 
ans = 
    0.4636    1.2292 
ans = 
   -0.5039    1.4211 
ans = 
   -1.0421    2.1611 
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4 E/N misclosures at 9 GCP image 1



E/N misclosures at 9 gcps image 2 
ans = 
   -0.1681    0.6038 
ans = 
    0.1526   -0.0059 
ans = 
   -2.3359    1.0698 
ans = 
    0.9482    1.1577 
ans = 
   -0.5830    0.4281 
ans = 
   -2.4845    0.0310 
ans = 
   -0.3255    0.7088 
ans = 
   -0.8402   -0.2613 
ans = 
   -1.5690   -0.8188 
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4 E/N misclosures at 9 GCP image 2
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